Erevcise 3.4 ( Homewovk 1)
3.
\Sol:
Let 5=[ﬁ. A U‘,;] then TeXo=A% :
fT ith vespect to E,VZV;

AS=5B .B).sthemath;noi W
S n Aed S12 7%1
D B=S§RS Add S *'ii’—?iJ

779

0 0 0
_? B (p ] j) #
Also: yaucando/t bleretfulw[aﬂon s
Ah = Al=9h Al 9% 9 B* (g;;) #
Exevcise 4.1

20. So:
a+d =0 H-azd
‘_'a‘b_wb:“" 9 ["a
i lo JJ' [c 'a} ala -I}+b[n J+C I o]
2 Tlme spote on be Yepve.)entd as
0| 0o 0
mV:‘SPaan{U «” ; [0 o} , [l 0}} #

dimgV=3 since [5], L&} 0} are lineoyly independent

3. Sol :
X .
L&t 5= [)L .j_:_} ’ iben'
by ki h) < [I'Afj'.‘} ‘x“'”"f)
[4 t] Ly X, iy Tpike ) § they eye equal

X}l OJ; [ZLI 0)
[13 1@)1,0 1] 1’1_3 0

5 [MtE=2k 7{
Xytky 30 "r‘ﬁq

|
3 5= {L:‘J:']‘J‘:[;ojfh[ )
l 0 [ J
3 The spete isiil? 5?“":&{ ) } f
dingV 23 since 1Y (2 4] are
lmeovly inJePen(leﬂt



HomeweYk §

Jection 3.1
8 50[: L
X eker/\ < é\x =0
(et X= (%)
3

xl
i 3
& [:"J[ z] =0
1/t xE
G xtx,tx; =0

@ .13 ==X ‘x2=>
I
Dher A= Spaip { [j; )

i-~o
——— v =
———

2. 501:

Ina={a(3)(z) (i)ew]
= {ur,uzij) (:} (x;)c//?}
)

Its a line.

34. Sol:
A: IR3 —)/K

to Jamfy tﬁot le?/l pen e {[ .}}
@ i)=& renhe 2

Then A can be chosen as

| - :J
I 1 o0
/] | 0 ¥
Section 32

2f.
501:

Redvadent cofumn yecfor:

(5] =3(1]+ (3]
2 3(1)+ [3)-[3]



Hemework 4

Section 2.3 .

74 Sol:

A=[o1) A Rli] 2[00 2 R[]
SA"=[17) N

Geometyic mesning :
horiyontal sh
Since . Jheay,
A (%) ;(x,;m)
. /.

\f/ Jol;
*[5]°%
& ) [;2 4

137073

Secfiaa 2.4 :
4.
a=[, 3)

Use fo]mula I d
1y K= [ ) imvertible, /‘{’Zﬂ?[“z

3 a4 ) .



